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Economic Policy and Rural Development
Paper : BC-11
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one

sentence or maximum up to 30 words. Each

question carries 2 marks.
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Why one should support Swadeshi Concept ?
Give rwo important arguments.
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How would you define Globalization ?

AR I 3Ty IR HE ?

Mention fwo names of main schemes of

Rural Development in India.
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When the situation of population explosion

arises ?
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(v) Name the two important goods which India

exports.
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(vi) Mention the two objectives of World Trade

Organisation (WTO).
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(vii) Which institution may be called as public

sector institution ?

TohE ST ! HESIoh &5 1 G el ST Hehdl

€2

Section-B 4x7=28
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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2. Briefly throw light on India’s Foreign Trade

Direction.
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3. Explain the importance of Rural Development in

Indian Economy.
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4. Why public sector is still important in Indian

Economy ? Discuss.
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. What had been the major benefits of liberalisation

to Indian Economy ?

ARAE SAdeEwe & TR F F1 & O e
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. “Globalisation and Swadeshi are opposite to each

other even than India is pursuing both.” Elucidate.
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. Throw light on the main problems of Panchayati
Raj System in India.
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. What is White Revolution ? Also explain its

benefits.
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9. Describe in brief the short-term sources of Rural

Finance in India.
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Section—-C 2x14=28
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 14 marks.
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10. Explain the key characteristics of the economy of
Rajasthan with facts and figures.
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11. “Agriculture still occupies a very important place
in Indian economy inspite of the fact that it share
in GDP has gone down tremendously since the

beginning of planning era.” Elucidate.
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12.0On what grounds can you say that India is
suffering from Overpopulation ?
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13. Discuss the main problems of cottage and small
scale industires in India.
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